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1 (a) Identify two stakeholders of TWP and explain why each stakeholder is interested in the For

business. Examiner’s
Use
5] £z 1G] a1 0] (o =T s E R
EXPIANATION: .
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EXPIANATION: ..
...................................................................................................................................... [8]
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(b) Consider the possible advantages and disadvantages of importing wood rather than For

buying locally produced wood. Recommend whether TWP should continue to import |examiners
wood or whether it should change to buying locally produced wood. Justify your answer. Use

IMPOIT WOOD: ...t e e e et e e e an e e e e e e e e e nnne s
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2 (a) Identify and explain two reasons why the business objectives of growth and increased

For
profits are important to TWP. Examiner’s
Use
R ASON T e
EXPIANATION: .o e e e e e
Y= = <0
EXPIANGTION: ..o e e e e e
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(b) TWP wants to start selling directly to customers who build or repair their own houses.

F

Consider the advantages and disadvantages of three methods of promotion it could Exam(;rrler’s
use. Recommend the best method to use. Justify your answer. Use
1Y/ 1. o T i R

1Y/ 1= 1 o T 2R

1Y/ 1= 1 o T 1 R
ReComMmMENatioN: ... e
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3 (a) TWP has taken out a bank loan and arranged an overdraft. Identify and explain two

For
differences between a bank loan and an overdraft.

Examiner’s
Use

D (=T =T oL I TR
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(b) Refer to Appendix 1. Do you think Tibalt should be pleased with the profitability of the

F
business? Justify your answer by calculating the gross profit margin and the net profit Exam(;rrler’s
margin for both years. Use
.................................................................................................................................... [12]
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4 (a) Tibalt wants to motivate his employees. Identify and explain four ways he could use to For
motivate his employees. Examiner’s
Use
LA L2 Y OO PP PP PPPPTII
EXPIANATION: .
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(b) Consider the advantages and disadvantages of both job production and batch

F
production for TWP. Recommend which production method he should use when Exam(;rrler’s
producing products to a design provided by the customer. Justify your answer. Use
N [o] o o] (oo [ o1 1] o A OO PPPPTPI
BatCh ProAUCTION: ...cooieeieee e e e
Y= ToT0] 21411 0o F= U1 To] o
.................................................................................................................................... [12]
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5 (a) The Government in country X supports sustainable development. Identify and explain

For
two reasons why Governments pass laws to protect the environment. Examiner's
Use
== <o o i TSP PRPPRR
EXPIANATION: .o e e e e e e aan
R BaASON 2. ettt e e e e e e e e aaeeeerea——————aaaarraar—————
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(b) Consider the advantages and disadvantages of each of the options below. Do you think

For
Tibalt should take over another business or open a new factory? Justify your answer. Examiner's
Use
Option 1 — Take over another wood product manufacturer: ...........ccccccoveiieeeiiiiieee i,
Option 2 — Open a Nnew TWP factOory: ...
ReCOMMENAALION: ... e
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